1. A friend tells you that since his car is at rest there are no forces acting on it.  How would you reply?  

6. Riding in an elevator moving with a constant speed, you begin a game of darts.
      Do you have to aim your darts higher, lower or the same as when you play darts
     on solid ground?  

20. A surfer hangs ten and acc down the slope-ing face of a wave.  If the surfer acceleration is 3.25 m/s2 and the friction can be ignored, what is the angle at which the face of the wave is inclined above the horizontal?

25. A 65kg shier speeds down a trail, the surface  is smooth and inclined at  an 22 degrees with the horizontal .

(a)  Find the direction and magnitude of the net force acting on the skier.

      Does the net force exerted on the skier increase, decrease, or stay the same as the 
      Slope becomes steeper? Explain:  

37. A 23 kg suitcase is being pulled with constant speed by a handle that is at an angle 25 degrees above the horizontal.  If the normal force exerted on the force is 180 N, what is the force F applied to the handle?

     39.  A 9.3 kg child sits in a 3.7 kg high chair.

           (a)  Draw a free body diagram for the child, and find the normal force exerted by  

           the chair on the chills.  B.  Draw a free body diagram for the chair and find the   

            normal force exerted by the floor on the chair.  

42. Find the normal force exerted on a 2.7 kg book resting on a surface inclined at 32 degrees above the horizontal.
(a) If the angle of the incline is reduced do you expect the normal force to  

            Increase, decrease, or stay the same? Explain:

50. Biomechanical research has shown that when a 67 kg person is running, the force exerted on each foot as it strikes the ground can be as great as 2300 N.  
(a) What is the ratio of the force exerted on the foot by the ground to the person’s body weight?
(b)  If the only forces acting on the person  are (i) the force exerted by the ground and (ii) the person’s weight, what is the magnitude and direction of the person’s acceleration?  C.  If the acceleration found in part (b) acts 10.0 ms, what is the resulting change in the vertical component of the person’s velocity?

Problems:
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to indicate the level of difficulty of each problem.

Section 6-1 Frictional Forces 3. ¢ Hopping into your Porsche, you floor it and accelerate at

1. * Abaseball player slides into third base with an initial speed of 12:m /s without spinning the tires. Determine the minimum

4.0 m/s. If the coefficient of kinetic friction between the player coefficient of static friction between the tires and the road

and the ground is 0.46, how far does the player slide before needed to make this possible.

coming to rest? * When you push a 1.80-kg book resting on a tabletop, it takes
2.25 N to start the book sliding. Once it is sliding, however, it

takes only 1.50 N to keep the book moving with constant speed.

What are the coefficients of static and kinetic friction between

the book and the tabletop?

* A child goes down a playground slide with an acceleration of
1.16 m /s Find the coefficient of kinetic friction between the
child and the slide if the slide is inclined at an angle of 31.0°
below the horizontal.





[image: image2.jpg]LSZ. Twoblocks are connected by a string, as shown in Figure 6-28.

The smooth inclined surface makes an angle of 42° with the hor-

izontal, and the block on the incline has a mass of 6.7 kg. Find the

mass of the hanging block that will cause the system to be in
equilibrium. (The pulley is assumed to be ideal.)

A FIGURE 6-28 Problem 32

~>ccuon 6-4 Connected 6bje7.s’

Find the acceleration of the masses shown in Fig-
ure 6-32, given that m; = 1.0 kg, my = 2.0 kg, and my =
3.0 kg. Assume the table is frictionless and the masses move
freely.
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A FIGURE 6-32 Problems 36, 39, and 88

37. ¢ Two blocks are connected by a string, as shown in Fig-
ure 6-33. The smooth inclined surface makes an angle of 35°
with the horizontal, and the block on the incline has a mass of
57 kg. The mass of the hanging block is m = 3.2 kg. Find
(a) the direction and (b) the magnitude of the hanging block’s
acceleration.

A FIGURE 6-33 Problems 37 and 38

Referring to Problem 37, find (a) the direction and (b) the
magnitude of the hanging block’s acceleration if its mass is
m = 4.2 kg. i




